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Physics                                                              Um Kulthoom School 
Grade 11 (    )                                                        Date 25\4\2019      
   Name…………….………..
Exam 1
Chapter 8 Systems of Particles and Extended Objects
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First :- Circle the correct answer
1. The figures show a high jumper using different techniques to get over the crossbar. Which technique would allow the jumper to clear the highest setting of the bar?
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2. The center of mass of an irregular rigid object is always located
a) at the geometrical center of the object.

b) somewhere within the object.

c) both of the above

d) none of the above
3. A 750-kg cannon fires a 15-kg projectile with a speed of 250 m/s with respect to the muzzle. The cannon is on wheels and can recoil with negligible friction. Just after the cannon fires the projectile, the horizontal component of the cannon velocity  ?
…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
a) -250 m/s                       b) 0.7 m/s                     c) 0                     d) 5 m/s         
4. A uniform chain with a mass of 1.32 kg /min of length is coiled on a table. One end is pulled upward at a constant rate of 0.47 m/s .the net force acting on the chain.
…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
a) 0N                      b) 0.01 N                     c) 2.8 N                    d) 0.6  N         
5. the point at which we can imagine all the mass of an object to be concentrated
a) center-mass momentum    b) center-mass velocity       c ) center-mass      d) thrust force
6.The thrust generated by space shuttle rocket engines and boosters is approximately 31.3

MN). The initial total mass of the Space Shuttle, including payload, fuel tanks, and rocket fuel, is slightly greater than 2.0 million kg; thus, the shuttle’s rocket engines and boosters can produce an   initial acceleration =

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
a) 16 m\s2                      b) 62.6 m\s2                      c) 0 m\s2                      d) 125.2 m\s2                      
 Second: An 80-kg astronaut becomes separated from his spaceship. He is 15.0 m away from it and at rest relative to it. In an effort to get back, he throws a 500-g object with a speed of 8.0 m/s in a direction away from the ship. 
7-How long does it take him to get back to the ship?

Third: A garden hose is used to fill a 20-L bucket in 1 min. The velocity of the water leaving the hose is1.05 m/s. The mass density of water is p =1000 kg/m3 = 1.0 kg/L.
8- What force is required to hold the hose in place?
    Forth: Three identical balls of mass m are placed in the configuration shown in the figure.
9-  Find the location of the center of mass in y and x coordinates . If (m=2kg , a = 20cm )
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